RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Solid Waste Management Program FY05 Budget Amendment 1 (01-1097)

RESOLUTION NO. 05-406

1	WHEREAS,	the TohonoO'odhamLegislativeCounciladoptedtheSolidWasteManagementCode							
2		and Solid Waste Management Plan on February 12, 1997 with Resolution No. 97-041,							
3		which in part created the Solid Waste Management Program (SWMP); and							
4	WHEREAS, the SWMP has expanded its scope of work since its inception in 1997 to include junl								
5		vehicle removal, contractor waste removal, community bulky waste collection and							
6		$disposal, il legal\ migrant\ was te clean-up, household\ hazardous\ was te collection\ and$							
7		disposal, dirt and gravel hauling, dangerous and unwanted building demolition,							
8		water hauling, emergency response and special requests from time to time; and							
9	WHEREAS,	to accomplish this expanded scope of work SWMP has hired additional staff; and							
10		apply for and receive additional grants; and worked to increase the total amount of							
11		collected fees for services; and							
12	WHEREAS,	for SWMP to be successful, it needs to attract and retain experienced and talented							
13		supervisory staff; and							
14	WHEREAS,	the SWMP proposes, with the support from the Human Resources Office, the							
15		reclassification of the Crew Foreman position to Solid Waste Supervisor, the							
16		Administrative Assistant position to Assistant Manager and the Manager position to							
17		Administrator.							
18	NOW, THE	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby							
19		approves the SWMP FY05 Budget Amendment 1 for the reclassification of three							
20		positions; Crew Foreman to Solid Waste Supervisor, Administrative Assistant to							
21		Assistant Manager and Manager to Administrator, as per attached Budget.							
22	BE IT FINAL	LY RESOLVED that the Tohono O'odham Nation's officials to wit: the Chairwoman and							
23		any designated official are hereby authorized to negotiate and execute the Budget,							
24		provided however, that any amendments affecting the funding of this Budget shall							
25		be submitted for further prior approval by the TohonoO'odhamLegislativeCouncil.							
26									

	RESOLUTION NO. <u>05-406</u> (Approving the Solid Waste Manageme Page 2 of 3	ent Program FY05 Budget Amendment 1 (01-1097))
1 2 3 4 5 6 7	of <u>IULY</u> , 2005 at a meeting at which a c 642.6 NOT VOTING; and <u>[02]</u> ABSENT, (3) & (f) of Article VI of the Constituti O'Odham Nation on January 18, 1986	by the Tohono O'odham Legislative Councilon the 14 TH . Day quorum was present with a vote of 1,798.2 FOR; -0-AGAINST; pursuant to the powers vested in the Council by Section 1 (d) on of the Tohono O'Odham Nation, adopted by the Tohono 6; and approved by the Acting Deputy Assistant Secretary -6,1986, pursuant to Section 16 of the Act of June 18, 1934 (48)
8 9		TOWONO OLODWAN I DOLOT ATTUT CONNECT
9 10		TOHONO O'ODHAM LEGISLATIVE COUNCIL
10 11		(Quelo B) \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
12		Evelyn B. Juan Manuel, Legislative Chairwoman
13		
14 15		18th day of, 2005
16		U (
17	ATTEST:	
18 19	Suni Loda	
20	Lucille Lopez, Acting Legislative Seco	etary
21	II ·	
22 23	18th day of July	, 2005.
24 25 26 27 28 29		approval to the office of the Chairwoman of the Tohono lay of
30		TOHONO O'ODHAM LEGISLATIVE COUNCIL
31		
32		lowly to findly
33		Evelyn B. Juan Manuel, Legislative Chairwoman
34		,
35 36		
36 37	APPROVED	on the 19th day of Only . 2005
38	[O] APPROVED	on the 7 9 2 day of
39	[] DISAPPROVED	on the 19th day of July , 2005 at 9:40 o'clock, A.M.
40		
41		Vinuan Saunders
42 43		VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
43 44		TOHONO O'ODHAM NATION
45		Tanada V Varanta - Inna - Var

	RESOLUTION NO. <u>05-406</u> (Approving the Solid Waste Management Program FY05 Budget Amendment 1 (01-1097))
	Page 3 of 3
1	Returned to the Legislative Secretary on the 1900 day of
2 3	<u>Fully</u> , 2005, at <u>9.45</u> o'clock, <u>A</u> .M.
4	
5	
6	Junia Topey
7	Lucille Lopez, Acting Legislative Secretary
8	
9	
10	
l1 l2	
13	
14	
15	
16	
17	
18	
19 20	
21	
22	
23	
24	
25	
26	
27 28	
29	
30	
31	
32	
33	
34	
35 36	
37	
38	
39	
40	
41	
42 43	
43 44	

ACTION: APPROVING THE SOLID WASTE MANAGEMENT PROGRAM FY05 BUDGET AMENDMENT 1 (01-1097)

MOVED: COUNCILMAN JOHN LAWSON SECOND: COUNCILWOMAN OLIVIA VILLEGAS-LISTON

DATE: JULY 14, 2005

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	155.40	X			
310.8	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	X			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	X			х
GU ACHI	1. TIMOTHY L. JOAQUIN	110.80			X	
221.6	(Jonas Robles) 2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80			X	
GU VO	1. RAYMOND VICTOR	96.55	X			
193.1	() 2. MICHAEL FLORES (Absent) (Grace Manuel) (Present)	96.55	X			
HICKIWAN	1. DELMA GARCIA	83.70	X			
167.4	(Mary E. Sam) 2. SANDRA ORTEGA ()	83.70	X			
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT ()	85.90	X			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	X			
169.0	2. GLORIA RAMIREZ	84.50	X			x
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			
193.8	2. OLIVIA VILLEGAS-LISTON	96.90	x			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	X			
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. DENNIS E. JOSE	210 50			X	
421.0	2. EVELYN B. JUAN MANUEL **	210.50			х	
SIF OIDAK	1. WAVALENE SAUNDERS	93.35	X			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Martinez)	93.35	X			
	TOTAL	2,440.8	1,798.2	-0-	642.6	[02]